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Immediately after opening the seals, check to
ensure that there is no defect in the Question
Booklet and all the pages are intact. If any
defect is detected, immediately inform the
Room Invigilator. If necessary, the Question
Booklet will be replaced.

The candidate has to answer 150 questions in
all. Each question carries 1 mark.

Answer the questions in OMR answer sheet
only.

Read the instructions given in OMR
answer sheet carefully before answering,

There are four alternative choices against each
question. Select the correct and most
appropriate choice and mark it with
blue/black ball point pen in the right bubble of
the OMR answer sheet in such a way that ink
does not spread out of the bubble.
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Who talked about identity crisis in his
theory of personality?

(A) Alfred Adler

(B) Sigmund Freud

(C) Erik Erikson

(D) None of these

'Self' refers to -

(A) those attributes of a person that
make her/him different from
others.

(B) those aspects of a person that
link her/him to a social or cultural
‘group or are derived from it.

(C) the totality of an individual's
conscious experiences, ideas,
thoughts and feelings with regard
to herself or himself.

(D) None of these

Which of the following is a characteristic

of personality?

(A) It has both physical and
psychological components.

(B) Its expression in terms of
behaviour is fairly unique in a given
individual.

(C) Its main features do not easily
change with time.
(D) All of the above.

The pioneer of 'trait approach of
personality' is -

(A) Raymond Cattell

(B) Gordon Allport

(C) H.J. Eysenck

(D) Sigmund Freud

The theory of observational learning was
given by -

(A) Pavlov

(B) Skinner

(C) Bandura _

(D) None of these

P.T.O.

(% Scanned with OKEN Scanner


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

'Adda

24

7

6.

10.

US aiferdt s gdten & R aga dea
B B 3T U TAER I
Hbam & -

(A) Neor Heerens e
(B) 3= Iuafer sfipRom
(C) 3t o ardmw
(D) wrar-foar & wwifda = & s

g s e s 2 -
8 7o foemar fow aiftrmy & &2

(A) TAERETE!

(B) JTHID

(C) WHaaER

(D) dsfH®

........

ABRIAS JAaeH @l 3rf & -
(A) @5 ¥ 30T I T S
(B) 3B I R T
(C) @us el

(D) 3B = B TG B

fsia sftnm Frafafea § @ fog )
ameniRa &2
(A) &7 Rggr=

(B) fohamRga 3raeH
(C) Reree ftnm R
(D) AT IS

T BT U STeAIS HE H DB T2 BRI
2 qT 59 d1C B D) IRID 3 &l 5 A3
B B T  foe dEar 81 39 Rufy &
pE R fgT S U SR B E TR -
(A) Froear @1 Fam
(B) Grder B Frem
(C) deaxen @ fraw
(D) snar a1 frEm

SET-C

[41

10.

- (A)

GET IT ON

Google Play

XXI-1
A girl child is working very hard for her
examination. Her behaviour is ap
indicator of her -
(A) Sharp cognitive abilities
(B) High achievement motivation
(C) Very Busy schedule
(D) Desire toimpress her parents

"Rewards play a significant role ip
learning”, is the main characteristic of
which of the following approaches of
leaming?

(A) Behaviouristic
(B) Cognitive

(C) Humanistic
(D) Scientific

'Negative Reinforcement’ means -

(A)

Not presenting any stimulus.

(B) Presenting an unpleasant
stimulus.

(C) Punishment. _

(D) Terminating an unpleasant stimulus.

Programmed Learning is based on -

(A)
(8)
(©)
(D)

Field theory

Operant conditioning
Gestalt learning theory
Classical conditioning

A mathematics teacher discusses some
problems in the classroom and then asks
the students to work out some problems
given in the book. Students are
practising the law of -
Contiguity
Reinforcement
Readiness
Exercise

(B)
(C)
(D)
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Interest refers to -

(A) An individual's preference for
engaging in one or more specific

activities related to others.

(B) Relatively enduring characteristics
of a person that make her or him
distinct from others.

(C) Anindividual's underlying potential
for acquiring skills.

(D) The global capacity to understand
the world, think rationally and use
the available resources effectively
when faced with challenges.

Which of the following methods involves
seeking information from a person on a
one-to-one basis?

(A) Case study

(B) Self - report

(C) Interview

(D) Observation

Which of the following statements is

not correct about development?

(A) Development is lifelong, i.e., it
takes place across all age groups
starting from conception to old
age.

(B) Development is influenced by
historical conditions.

(C) Development is uni-dimensional.
(D) Development is highly plastic.

Development of symbolic thought and
establishment of object permanence is
visible in which of the following stages
of cognitive development according to
Piaget?

(A) Sensori motor

. (B) Preoperational

(C) Concrete operational
(D) Formal operational

P.T.O.
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The stage of life that Degins at the
onset of puberty, when sexual maturity
or the ability to reproduce is attaineq
is commonly known as =

(A) Childhood

(B) Infancy

(©) Adulthood

(D) Adolescence

Which of the following statements js

correct about adolescence?

(A) Imaginary audienceis adolescents'
belief that others are as
preoccupied with them as they
are about themselves.

(B) Adolescents' sense of uniqueness
makes them think that no one
understands them or their
feelings.

(C) Personal fables are often part of
adolescent diaries.
(D) All of the above.

Anorexia nervosa is a -
(A) sleeping disorder
(B) mental disorder
(C) - eating disorder
(D) physical disorder

The process of adjusting to bright light
after exposure to dim light is called -
(A) Regeneration

(B) Lightadaptation

(C) Dark adaptation

(D) Saturation

Which of the following statements is
correct about learning?

(A) Leaming is any relatively permanent
change in behaviour.

(B) Learning always involves some
kind of experience.

(C) Leamingis an inferred process and
is different from performance.

(D) All of the above.
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Which of the following is not a
characteristic feature of formal

assessment?

(A) Varies from case to case
(B) Objective

(C) Standardized

(D) Organised

The two-factor theory of intelligence
was proposed by -

(A) Howard Gardner

(B) Robert Sternberg

(C) Charles Spearman

(D) Lev Vyogotsky

Response, organization and characterization
are included in which domain of
educational objectives?

(A) Cognitive domain

(B) Affective domain

(C) Psychomotor domain

(D) None of these

Which of the following is not a
technique of motivation?

(A) Reward and Punishment

(B) Praise and reproof

(C) Novelty

(D) Recall

Factor influencing emotional development

in children is =

(A) Health and Physical development

(B) Family atmosphere and relationship

(C) Neighbourhood, community and
society

(D) All of the above

Type R-conditioning is known as -
(A) Classical conditioning

(B) Operant conditioning

(C) Connectionism

(D) Experiential Learning

P.T.O.
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Self - actualization needs are rejatay

:i) Theory of insightful learning

(B) Field Theory :

(C) Information Processing Theory

(D) Maslow's Humanistic Theory of
learning

Sensory memory is also known as -
(A) Immediate Memory

(B) Short-Term Memory

(C) Long - Term Memory

(D) None of these

Which of the statements are true about

creativity and intelligence?

(i) Therelationship between creativity
and intelligence is positive. |

(ii) Intelligence does not ensure ’l
creativity.

(i) Creativity tests involve divergent
thinking whereas intelligence tests
involve convergent thinking.

(A) (i) and (ii)

(B) (i) and (iii)

(C) (ii) and (iii)

(D) (i), (ii) and (iii)

The level of consciousness which is |
considered as the reservoir of instinctive
or animal drives is - :
(A) Unconscious 4
(B) Preconscious
(C) Conscious

(D) None of these

The kind of defence mechanism in which
anxiety provoking behaviours of
thoughts are totally dismissed by the
unconscious s - :
(A) Denial '
(B) Repressioh
(C) Projection

(D) Rationalisation
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First Language - English
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Direction (Q. No. 31) : In the question
below, a sentence has been given In Direct
speech. Out of the four alternatives
suggested, select the one which best

expresses the same sentence in Indirect
speech.

31. 1 said to my friend, "Can you pick me
up after work?" !
(A) I asked my friend if he can pick

me up after work.

(B) I asked my friend if he could pick
me up after work.
(C) I told my friend to pick me up

after work.
(D) I told my friend if he could pick

him up after work.

Direction (Q. No. 32) : Complete the
following sentence by selecting the appropriate

modal auxiliary out of the given altematives.

32. Had our flights been on time, we

reached by now,

will have

(A)
(B)
©
(D)

would have |

have

shall have

SET-C

[12]

Direction (Q. No. 33 to 34) : Identlfy b
figure of speech in the given sentences, =

33. 'Let not Ambition mock their usefy| toj
(A)
(B)
(©)
(D)

34, "The murmurous haunt of flies on summer

Simile
Oxymoron
Personification

Metaphor

eves"
(A)
(B)
(®)
(D)

Simile
Metaphor -
Onomatopoeia

Oxymoron

35. What are the productive skills of
language? '
(A)
(B)
©)
(D)

listening, speaking

listening, reading
reading, writing s
speaking, writing ‘

36. Role play should be an integral part of ;
every language classroom because -

(A) it is very useful to maintain

silence in the classroom. i

(B) it enables students to engage i

. meaningful talk. ‘]

(C) it enables students to memorizé
the story.
(D) It enables girls and boys t@

interact freely.
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39.
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Which one is the theory based on the
habit formation that says that human
or any creature gives response due to
stimulus or humans learn due to
stimulus?

(A) Classical conditioning

(B) Operant conditioning

(C) Stimulus conditioning

(D) None of these

The scientific study of articulation,
transmission and reception of speech
sounds is called -

(A)
(B)
(©)
(D)

Linguistics
Morphology
Phonetics
Syntax

According to the National Curriculum

Framework 2005, English in India is
in a multilingual country.

a foreign language
a global language

an associate language
a first language

(A)
(B)
©
(D)

The linguist, Noam Chomsky maintains
that every child has an innate Language
Acquisition Device (LAD) that he/she
uses for -

(A) Semantics

(B) Phonetics

(C) Universal Grammar

(D) Complex words

SET-C

(% Scanned with OKEN Scanner

[13]

XXI-1

Direction (Q. No. 41 to 45) : Read the
passage glven below and answer the
questions that follow by selecting the most
appropriate option.

It is difficult to reconcile the ideas of
different schools of thought on the question
of education. Some people maintain that
pupils at school should concentrate on a
narrow range of subjects which will benefit
them directly in their subsequent careers.
Others contend that they should study a wide
range of subjects so that they have not only
the specialised knowledge necessary for their
chosen careers but also a sound general
knowledge about the world they will have to
work and live in. Supporters of the first theory
state that the greatest contributions to
civilisations are made by those who are most
expert in their trade or profession. Those on
the other side say that unless they have a

broad general education, the experts will be

too narrow in their outlook to have sympathy
with their fellows or a proper sense of
responsibility towards humanity as a whole.

41. Broad general knowledge is necessary
because -
(A) without it no one would get a job.
(B) it broadens one's outlook.
(C) it teaches us about different

1

things. -

(©)
it.

P.T.O.
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42. 'Schools of thought' can be explained as=

43.

(A)

(8)

(©)

(D)

groups of people who are schooled
to think.

groups of people whose‘job is to
think.

groups of people who study in a
particular school thoughtfully.
groups of people having the same
ideas but with different perception

on a particular subject.

Supporters of the first theory say that-

(A)

(B)

(©)

(D)

experts have done nothing to
save mankind.

experts have contributed most to
progress in the modern world.
people with general knowledge are
more useful than experts.
people with general knowledge
have contributed to civilisation.

The idea of the first school of thought

in the passage is that-

(A)

(B)

©

(D)

SET-C

students should concentrate on
studies.

students should not undertake
any specialised work.

students should study all the
subjects they want to,
students should study a few
subjects that will help them in

their profession.
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45. According to the second schog)| -"--.*
thought, education will not be va@
effective if pupils =
(A) do not have a wide QEHera‘i'

education. '
(B) have nothing but genera
knowledge.
(C) have inadequate knowledge of'lj
their own work. _ !
(D) ignore the study of fine arts,

Direction (Q. No. 46 to 50) : Read the
poem given below and answer the
questions that follow by selecting the most
appropriate option - ; !
Half a league, half a league,
Half a league onward,
All in the valley of Death

Rode the six hundred.

e .

"Forward, the Light Brigade! '
Charge for the guns!" he said.
Into the valley of Death

Rode the six hundred.

“Forward, the Light Brigade!"
Was there a man dismay'd?
Not tho' the soldier knew
Some one had blunder'd.

Theirs not to make reply,
Theirs not to reason why,
Theirs but to do and die.
Into the valley of Death
Rode the six hundred.

[14]
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The expression 'the valley of death’

refers to -

(A) the place where the dead soldiers
are lying buried.

(B) the impending death of soldiers.

(C) the house of death.

(D) a nightmarish place.

Which of the following adjectives does
not apply to the soldiers?

(A) courageous

(B) disciplined

(C) patriotic

(D) impractical

47.

Name the figure of speech used in 'the
Valley of Death'-

(A) Metaphor

(B) Simile

(C) Synecdoche

(D) Metonymy

49. Which of the following statements is

not true?
The military discipline teaches the

soldiers -
(A) to do and die.
(B) toobey their commander’'s order.

(C) to act tactfully in the battlefield.
(D) not to ask any question.

In the first stanza of the poem, the

soldiers are -
(A) talking to each other about their

personal problems.
Waiting for their commander's

order.
Thinking about the result of the

war,
seen riding fast to the enemy

territory.

50.

(B)
(©)
(D)

SET-C
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pirection (Q. No. 51 ) : In the following
question one word, a numbered one, is
followed by four words. Choose the word that
s most nearly the same in meaning

(synonym) of the numbered word.

Camouflage

(A) Disguise
(B) Uncover
©
(D)

51.

Demonstrate
Fabric

Direction (Q. No. 52) : In the following
question one word, a numbered one, is
followed by four words. Choose the word that
is most nearly opposite in meaning (Antonym)
of the numbered word.

52. Conspicuous
(A) Indifferent
(B)
(©)
(D)

Harmless
Insignificant

Unknown

Direction (Q. No. 53) : Fill in the blank with
the help of suitable preposition.

53. Mancannotlive bread alone.
(A) except
(B) with
(C) by
(D) at
P.T.O.
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Direction (Q. No. 54) : In the following
question, out of the four alternatives, choose
the one which can be best substituted for
the sentence below.

54. One who 'accepts pleasure and pain
equally .

(A) Thespian

(B) Sadist

(C) Humanitarian

(D) Stoic

Direction (Q. No. 55 to 56) : In each of the
following questions, groups of four words are
given. In each group, one word is correctly
spelt. Find the correctly spelt word.

55. (A) measureable
(B) manageable
(C) marriagable
(D) manoevrable

56. (A) impromptue
(B) illustrious
(C) illusery
(D) impetous

Direction (Q. No. 57 to 58) : In each of the
following questions, four alternatives are
given for the idiom underlined in the
sentence. Choose the alternative which best
expresses the meaning of the idiom as your
answer.

Ram is very calculative and always has
ri

57;
n axe
(A) hasno result
(B) works for both sides
(C) has a private agenda

(D) fails to arouse interest

SET-C
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58. The project IS carried over to this yeae:

and we need o keep the ball rolling,
(A) to continue the work ,
(B)
©
(D)

more information
to do better

new strategies

|

Direction (Q- No- 59) : In the followingg

question, a sentence has been given in

Active voice. Out of the four alternatives
suggested, select the one which best
expresses the same sentence in Passive

voice.

59. Who is singing such a sweet song?
(A) By whom is such a sweet song

sung?

By whom is such a sweet song

being sung?

By whom is such a sweet song

sang?

By whom has such a sweet sont

sung?

(B)
©

(D)

Direction (Q. No. 60) : In the followint
question, a sentence is given to be filled
with an appropriate conjunction. Choose th
correct alternative out of the four.

60. Hardly had he left
came.

(A) then |
(B) than 2

his brothe

(C) when

(D) that
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67.

68.

69.

70.

= & X e & e N aEs 9@
T&TH BT 2?

(A) wg=
(B) HTS
(C) wla

(D) Sma

Ug-dley & Fur = e
(A) 3ifaRite=

(B) &Rael

(C) #IsH

(D) S

UATaROT 3RIIE BT QUROTH 4T T8 &2

(A) UAfaRUT HGHUT & Tl U SrRal
B el

(B)

() @ 3R 4fH eRor I FHR Ya

Gl

(D) UsST # Gel BT T U=

‘ggfaRoT 9 § ygad 39 § -
(A) T

B) uRk

(C) Al

(D) ¥

gfer 3R A @ WY R aRar & -
(A) R FE-3fEa ®

(8) ¥3d 3R AF & WA W

(C) ﬂﬂﬂmmtmﬂ
() A A BE T
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Direction (Q. No. 61 to 62) : Choose the
correct tense,

61. Rohan
read the review.
(A) watches
(B) have watched

(C) had watched
(D) was watching

the movie before he

62. By the next month, we shall
the project.
(A) hascompleted-
(B) completing
(C) completed
(D) have completed

Direction (Q. No. 63 - 64) : Choose the
most suitable auxiliary or modal verb out of
the given alternatives.

63. In the Middle Ages, people
travel by plane.
(A) could
(B) hadto
(C) can't
(D) couldn't
64. Kate is ill, so she
and drink a lot of water.
(A) need
(B) can't
(C) hasto
(D) doesn't have to

stay in bed

Direction (Q. No. 65) @ Select the word
nearest in meaning to the underlined part.
65. The maid servant left the police

station contrite.

(A) penitent

(B) sore

(C) angry

(D) remorseless

SET-C

pirection (Q. No. 66) : Select the option in
which punctuation mark is appropriately used.
66. (A) Itis mentioned in the notice, all
of us should read it.
(B) Itis mentioned in the notice! all
of us should read it.
(C) Itis mentioned in the notice? all
of us should read it.
(D) Itis mentioned in the notice; all
of us should read it.

Direction (Q. No. 67) : Complete the
following sentence using appropriate phrase
preposition from the given options.
67. How can they be going out? Jane has
nothing Peter.
(A) incommon
(B) incommon to
(C) incommon of
(D) in common with

68. Which of the following methods is based
on the principle 'From example to
generalisation'?

(A) Incidental Method
(B) Remedial Teaching Method
(C) Deductive Method
(D) Inductive Method

Direction (Q. No. 69 to 73) : Read the
passage given below and answer the
questions that follow by selecting the most
appropriate option.

Stammering is a habit disorder linked
with lack of self-confidence. Basically for a
child to understand a language, there are
four stages. The first is learning to
understand the spoken language and the
second is speaking. Both of these usually
develop around the age of two.

The third stage is speaking complex
sentences, which develops at around 3rd and
the fourth is when the child recognises the
written alphabet. In 80% of children while
the 3rd and 4th stages are at play, the first
two get disturbed because something new is

plT-oi

B o e e e
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getting incorporated in the mind.

This is absolutely normal. But what

over-cautious mothers do is fret a lot and
the child develops a fear which later
Manifests itself as stammering. Infact, most
text books on stammering state in bold that
'Had there not been any over-cautious
mothers, hardly anyone would have suffered
from stammering'. Fluency can be incorporated

in the speech of such patients through
hypnosis.

69. Stammering is caused because of -

(A) Physical disorder

(B) Hindered growth

(C) Lack of self-confidence
(D) Lackof understanding

70. The second stage of a child's
understanding the language is -
(A) Speaking
(B) Writing
(C) Listening
(D) Reading

/1. are basically the reason for
developing a fear in the child's mind.
(A) Parents
(B) Over-cautious mothers
(C) Fathers
(D) Uncles

72. Fluency in such patients can be
incorporated in the speech of such
patients through -
(A) hypnosis
(B) slap
(C) punishment
(D) symbiosis

73. By thetime the child becomes 2 years
old he/she can -
(A) speak complex sentences,
(B) only understand spoken language.
(C) understand and speak simple

language.

(D) write the alphabets,

SET-C
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Direction (Q. No. 74 to 78) : pq..
passage given below and answer
questions that follow by selecting the =
appropriate answer.
The last great war, which nearly ¢
the foundations of the modern world, has
little impact on Indian Literature beyh
aggravating the popular revulsion agajng
violence and adding to the groyjn.
disillusionment with the "humane pretensjgna
of the Western World. This was eloque :
voiced in Tagore’s later poems and his
testament, Crisis in Civilisation. The Indjas
Intelligentsia was in a state of moral dilernmai
On the one hand, it could not help
sympathising with England’s dogged couragi
in the hour of peril, with the Russians fightj
with their backs to the wall against
ruthless Nazi hordes, and with China groanin;
under the heel of Japanese militarism; ou;
the other hand, their own country was
practically under military occupation of their
own soil, and an Indian army under Subhas
Bose was trying from the opposite camp 8
liberate their country. No creative impulse
could issue from such confusion of loyalties
One would imagine that the achievementol
Indian Independence in 1947, which cam1
in the wake of the Allies’ victory and Was
followed by the collapse of colonialism inthe
neighbouring Countries of South-East ASWI:
would have released an upsurge of creatl -
energy. No doubt it did, but unfortunately!
was soon submerged in the great agony _'
Partition, with its inhuman slaughter of &
Innocents and the uprooting of millions @
People from their homeland followed by
martyrdom of Mahatma Gandhi.
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74. What was the impact of the last great 78. Which of the following statements is
waron Indian Literature? true -
(A) It had no impact. (A) Indian Army under the Nazis were
(B) It aggravated popular revulsion trying to liberate the country.
against violence. (8) Indian. Army under Subhas Bose
(C) It shook the foundations of was trying to liberate the country.
(D) 1‘:e§tum' (C) Indian Army under the Russians
offered
eloquent support to the was trying to liberate the country.
western world.
(D) Indian Army under the Japanese
75. What did Tagore articulate in his last was trying to liberate the country.

testament?

(A) Offered support to Subhas Bose.

(B) Exposed the humane pretensions
of the Western World.

(C) Expressed loyalty to England.

79.

According to language teaching experts
the early education of a child should
bein -

(A) The first language

. (B) Second language
' f
(D) Encou‘raged the liberation o (C) Foreign language
COURLIES: (D) Multi language
76. What was the stance of Indian 80> ‘in  ‘contintious’ " comprenensive
Intelligentsia during the period of great evaluation, the teacher tries to -
war? (A) Find out to what extent the leamning
(A) Indifference to Russia's plight. objectives are achieved.
(B) They favoured Japanese militarism. (B) Make the learner assess the
(C) They prompted creativity out of teacher.
confused loyalties. (C) Identify the special needs of the
(D) They expressed sympathy for learners in a group.
England's dogged courage. (D) Make the learner by cramming
leamning.
\1d in the passage words that mean
G I;i usl:; 81, The alphabetic method, the phonic
(i) D}:gppointment method, the word method and the
ii
E A)) Upsurge, liberate sentence method are associated with-
() Violence, aggravating () SR
(C) Revulsion, Disillusionment (B) Speaking
(D) Peril, Dogged (C) Reading
(D) Writing
o L [23] P.T.O.
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82. Effective learning takes place when the

learners are -
(A) Passive

(B) Quiet

(C) Interactive

Good at preparing for the
examination

(O)

In order to assess the all-round
development of a learner, a teacher has
to take the help of -

(A) Unit-end evaluation

(B) Term-end evaluation

(C) Continuous and comprehensive
evaluation

Month-end evaluation

83.

(D)

Direction (Q. No. 84) : Rearrange the
following words and phrases to form a
meaningful sentence. Choose the correct
atternative sentence.

services will/tourism in/air taxi/the
state/ boost

84.

(A) Tourism in the state services will
boost air taxi.

(B) Air taxi boost services will
tourism in the state.

(C) Air taxi services will boost
tourism in the state.

(D) Services will boost tourism in the

state air taxi.
Direction (Q. No. 85) : Choose the most

suitable option that describes the meaning
of the following underlined idiom and phrase.

The exam went down in flames, I should

85.
have studied well.
(A) exam paper got burnt
(B) passed with goodmarks
(c) failed spectacularly
(D) exam hall caught fire
SET-C
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Direction (Q. No. 86) : In the
sentence choose€ the antonym to ¢

underlined word.
86. She was determined not to
her energies.
(A) Utilize
(B) Conserve
_(C) Manage
(D) Organise

Direction (Q- No. 87) : In the follomng
sentence choose the synonym to the

underlined word.

87. Sherequested him not to abandon her
(A) Try '
(B) Join
(C) Keepup
(D) Forsake

Direction (Q. No. 88 - 89) : Select the
incorrectly spelt word from the following.: |

88. (A) Potassium
(B) Possibility
(C) Parasology
(D) Preamble

89. (A) Pursue
(B) Persuit l
(C) Persuade |
(D) Peruse

Direction (Q. No. 90) : Select the corre€
atternative which can be substituted for tft
sentence below. |
90. A person who talks in sleep is called”

(A) Philatelist

(B) Somnambulist
(C) Somniloquist
(D) Oneirocritic
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91. % am o paik Q Rex 12 R H, Q 91. A work can be completed by Pand g
3R R freras 15 Rl % 7o R 31k P Rrera 12 days; Q'and Rin 215 CHVSEERY
20 R ¥ wora @} wHa &, @ P 3b In 20 days. In how many days P ajgy
o At & o waa sam? can finish the work?
(A) 10 (Ml
® 20 (B) A28
© 30 (c) 30
©) 60 (D) 60
92. 40 faenf¥i @ ®en & it 3 86 & © B ob:::le: hhY :
' lass is 86. If the 5 hi
AR & St of T fod o, A st :l:::sai? :ernoved, the ave?'::
3P 1 B A e &1 wdiew 5 e & reduces by one mark. Find the averag
3 3% T e - marks of top 5 students -
(A) 92 (A) 92
(B) 96 (B) 96
o (C) 93
Ah (D) 97
03. s WX i T AT B W T 93. What is the major problem found i
[ . primary level teacher of mathematics
A) RreoreTreia YRS B 3T (A) Lack of pedagogical training
®) 28 s (B) Lack of preparation
() sfmrdERoT ¥ (C) Busyness in record maintenance
(©) o B & (D) None of these
os. Prefofies § & o @ Rt e, 94. Which of the following method is basé
: on princi "
s drar & Rz R Ry &2 [ear:"? Ciples of "Watch, listen an
(A) samrenen faftr (A) Laboratory Method
(B) weIH faftr (B) Demonstration Method
(c) @A faft (C) Lecture Method
(D) I ey (D) Research Method |
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5 : 3 & I A 8 TEIAR, I U B
5 : 6 W URafaa & & fore foam am drar
3R Fremrn arfge?

(A) 50

(B) 150

(C) 550

(D) 300

vE P & 30 90 R, TS # F 1 =
R g 1/3 & 7 21 3 R, 396 3
I TR, @ F 1 3N W 1/2 B FA 2
FETER, 39 i $ 3w Fu & B A
fa 8?
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(B) 18
© 7
(D) 16

ve TR v Fiaa amn o 48 fedl et
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then the value of

Zinc and Copper are in the ratio 5:3in

400 gm. of an alloy. How much of

copper (in gms) should be added to make
the ratio 5:67

(A) 50

(B) 150

(C) 550

(D) 300

If 1 is subtracted to both the

- numerator and the denominator of a

fraction, it becomes 1/3. If 1 is added
to both the numerator and denominator
of that fraction, it becomes 1/2. Then
the sum of numerator and denominator
of that fraction is -

(A) 10

(B) 18

(C):. 7

(D) 16

A car can finish a certain journey in 10
hours at speed of 48 km/h. In order to
cover the same distance in 8 hours,
the speed of the car must be increased
by -
(A)
(B)
(%)
(D)

6 Km/h

12 Km/h
15 Km/h
60 Km/h
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afk 2160=22x3bx5¢, ar 32x2-0x5°¢ P
HE 8 -

(A) 81/40

(B) 37/39

(©) 172

(D) o

sl w1 T A 168 AR @
OE @ o 3 wAY 1 e wmeER few
ARG B g3 ?

(A) 27

(B) 29

(C) 20

(D) 22

afe v IR B TR 3R TieE HHe:
10% 3R 20% wert s 3R Fur Farg
D 5% TGl T @ 39 TOR § &9 o
& 3aa- o fan wfdera &1 aRad= am?
(A) 24.4%

(B) 24.6%

(C) 24%

(D) 24.2%

Ife wwr 5132416p, 3 ¥ fawsa &, o p
¥ ®IF U P-4 3H e?

(A) 8
(B) 6
(c) 7
(D) 9
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If 2160 = 22 x 3° X 55, then the,
of 30 X 2% 54wl be=
(A) 81/40

(B) 37/39

() 1/2

() 0

If third Friday is on 16" of month the
what will be the date of fourth Tuesgs

-of that month?
(A)
(B)
€
()

27
29
20
522

If the length and breadth of a room i
and 20%
respectively, while height is increaset

decreased by 10%

by 5%, then what percentage will be
changes in the volume of the room?
(A) 24.4%
(B) 24.6%
(C) 24%

(D) 24.2%

If number 5132416p is divisible by3

p?

(A).
(B)
(©)
(D)

0 N O W
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398 is divided by 5,

inderis —

. In how many hours, the number of

seconds is equal to the number of

minutes in 10 days -

“(A) -;'{2_,hours'
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(C) 4 hours
(D) 5 hours
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108. The volume of a cube is 64 cm3, 1

109. A right angled triangle cannot be -

110. The greatest five digit perfect squa

111. The value of-

GET IT ON

Google Play

: il

(A) J6+1
(B) +3+2
€) +2+45
(D) 2++5

total surface area of the cube wj||
(A) 12 cm? 3
(B) 24 cm?
(C) 48 cm?
(D) 96 cm?

(A) An equilateral triangle
(B) Anisosceles triangle
(C) A scalene triangle

(D) A polygon

number is -
(A) 99999
(B) 99976
(C) 99856
(D) 99764

1 A 553 01 4
54 '|gdy [S¢(3 5 1 aei
5 [ 2 {6 (s+10 15]”

be -

A =
® I
© 15
© i
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112. 3 T 200 & 812 B s e
fnfora ghftp

(A) 27
I (8) 28
(€) 29
(D) 30

113. AR AH. (a, 8) =4 3R AH. (a, 8) = 24
A, A BTTATE -

(A) 14

(B) 8

(€

(D)

10
12

g0 HI. N 911 TP JUIBR U & 3R
Sftrdan &G B U6 ANOR Wel 1 HaH
a7 &1 QA & e BT A § -

(A) 6400 Hi°

(B)
(©
(D)

= R o sl 3 @ 7 FE
Bz B FA 8 -

(A) P faftr

(B) 3w fafer

() faredmor faftr

(D) e faftr

114.

3200
1600 A2
12800 HI

115,

SET-C
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112. How many natural numbers lie b

113.

114.

115.

GET IT ON
Google Play

XXI-1
etween

3 and 200 which aré divisible by 7 7

(A)
(B)
©
(D)

If HCF (a, 8) = 4 and LCM (a, 8) = 24,

then the value of 'a' is =
(A)
(B) 8

(C)E=10°
(D)

14

12

In a circular park of diameter 80m, there

is a square shaped playground of

maximum area. The area of the

_playground is -

(A) 6400 m?
(B)
(&)

(D)

3200 m?
1600 m?

12800 m?

The method in which new rules are
estaﬁlished _iw examples is -

(A)
(B)
(C)
(D)

Deductive Method
Inductive Method
Analytical Method

Synthesis Method

P.T.O.

— e e —
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116.

117.

118.

119.

120.

T & waifte e e @ -
(A) demim |

(B) 3w

(C©) IEmf

(D) afew nitrg

RIS TR R Wi @ dar e &2
(A) wivphe

(B) wWifS®

(C) enfi®

(D) wFfE®

BeT & IR - e war & o

&1" I8 o T % e g & e
&?

(A) WRPplde gea

(B) WMIfsT® Hed .

(C) 3ae w e

(D) ¥ 3 35 T&

e x:y = 1:2 &, A (8x+9y) : (8x+2y)

& A FIT e
(A) 22:29
(B) 29:22
(C) 13:6
(D) 6:13

fsdit 30 JN. frman e 45 M. 3 i
@ ferenax 5 Y. Brear e et # oRaflq
fRpar Tl S B TS 5 D -
(A) 81

(B) 41

{c) 80

(D) 40

SET-C

116.

117.

118.

119,

120.

(D)

‘ .
GET IT ON
Google Play

The oldest branch of Mathems "
(A) Algebra i
(B) Arithmetic
(C) Geometry
(D) Astrology Math

What is the importance of Matham
at Primary level? 5
(A) Cultural
(B) Social

(C) Religious
(D) Mental

According to Hogben - "Mathematjes
the mirror of Civilization.,"
statement corresponds to which val
of Mathematics ? )
(A) Cultural Value
(B) Social Value
(C) Disciplinary Value
None of these

If x:y = 1:2, then the valuel
(8x+9y) : (8x+2y) will be -
(A) 22:29

(B) 29:22

(L)—d13.:.6

(D) 6:13

If a metallic cone of radius 30 cm?

height 45 cm is melted and fECaSt,e
metallic spheres of radius 5 €M !
the number of spheres -
(A) 81
(B) 41
(C) 80
(D) 40
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qgiazol 3eaa-

Environmental Studies

Mo W % qeRr Wi B for Qe

o & R s @, 3 Qe ¥ gwa

T S AiRe, wiRs -

(B) ﬁmﬁﬁmaﬁﬁmm

© A NP vt B o 2 &)

(0) A R-safrfaola gand & 5
gt 21

fowa @1 7o A & W wear o <@
MPiiD AH B

(A) F@

(B) @

(C) U

O) T &1 o

Wmﬁﬁaﬁ@wzﬂgﬁ
SREd & -

(A) i & Foit @ R s
(B) ®Hl & ford weer s/

(C) AR B Ferar AT

(D) & W TG

wfaRor fRren ¥ s @ -

(A) foaffrit = sfeRe d soex o
@ ST

(B) YUATEROT &1 FHUCl ¥ S BT

(©) faafRi & #-RkeH &

(D) forem & mmezm | wAfEROT @Y e
89 ¥ Furl

AU & HITH HaPN & §E gafaRol
FEATT Y WHY 39 U8 UN & 5 s
urs § of 8l o X8 &1 39 & AP
(A) U5 P Jad & S fore g-amard
q@wmmﬁﬁqw-ﬂwmnﬁm‘f
aarnzm;ﬁasim %

gaa &l
g&ﬁgﬂmﬁ@ﬂﬁésmﬁ

S|
got & deh 5 3 30 W R 3@
IR BRI

(B)
©)

(D)

SET-C
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122,
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124.

125,

Disposable plastic plates which are
thrown away after eating food, should
not be used because -

(A) they are made of materials with
light weight.

(B) they are made of toxic materials.

(C)  they are made of biodegradable
materials.

(D) they are made of non-biodegradable
materials.

The most rapidly dwindling natural
resource in the world is -

(A) water

(B) forests

(C) wind

(D) sunlight

The basic objective of educational
excuration in EVS is -

(A) to develop the energy of children

(B) first hand experience to the

students

)
(D)

Meaning of environmental education is—
(A) to engage students with
burdensome schedule

aware children about environment
to entertain children

to save environment from
pollution through education

to promote socialisation
to promote team spirit

(B)
(©)
(D)

After the lunch break, while teaching
EVS, you find that students are not
taking interest in the lesson. What would
you do?

(A) Use audio-visual aids based on
multiple intelligence to make the
lesson interesting.

Change the topic immediately.
Take the children out to play in
the ground.

Ask them to put their heads down
on the desk and relax.

(B)
©

(D)

P'T.o.
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126.

127.

128.

TLHE.IREY. # -t § gt

TS B e e ok wre R

T 8- ‘

(A) g o smemege siasersi &) ST
TH & fow

(B) Fuaw 3k R % Rre Rrenfal
AR I I & ferel

(C) T T=E & 8% TRa
SUCT IR & fore|

(D) 31t W % vt wet @y S

a'R‘—’fas%ml

3rae 3N BEm V A qafaRor aemaE &

TETT | RR T2 Sirg-vgare a3k
BEAAIRS T3 YBa &1 39P gRT 39 TR
T B T JUR ST 2

(A) 3raciieT Bteer i

(B) WA dleer A

(C) Wiew olwer #

(D) e TR PleEr §

e e TA® T B AW Wi B @)
T & B AT o] T B DT B
Rrers &1 HMere afmm 78 2 -

TeT 3 Ao faarel $ a’ F ffg
&

gl § ol o1 [ery &)
Feal @ gAvO®Yl, TEEE sk
FYTR0T B TG &1

Fe | & A TR B waetH
T &A1

(A)

(B)
(©)

(D)

SET-C
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126. Higher priority and space has pas

127.

128.

GET IT ON
Google Play

in NCERT textbooks on EVS ¢y
(A) Explain basic concepts;
subject. i
(B) Provide opportunities g |ga
for contemplation and wond
Provide exact definitigp

technical terms.

©)
(D) Include large number of praq

questions.

Aanchal frequently asks probing g
imaginative questions in her Class!"
EVS. By doing so, she aims‘
improving-

(A)
(B)
(©)
(D)

Observation skills
Emotional Skills
Thinking Skills
Speaking Skills i
|

A teacher asks every child to use sof
A
waste material from their homes ar

make something useful out ofit. |

The pedagogical intention of i
teacher is not to - :
(A) Judge the best student of t
class.

(8)
(©)

Develop creativity among child
Make children understand ¢
concept of recycle, reusé
reduce,

(D)

Organize an exhibition of
articles made out of waste:
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129. ¥R I ¥aQ q91 TRRufY &5 &
(A) SE
(B) N &1 ¥eH
(C)
(D) ¥R

WRATY &7 Ford IR I 8-
(A) &=
- (8) ar
(C) T
(D) TSR

et 4 e el @ v fer 3w A
TRA &, Tt -

(A) 3 U e = wFT ST 2
(B) U R ¥ 3uce & 3ik w=d &1
(C) T& yafavor fadd 2

(D) TE ITFY ¥ 30T IS ol

130.

131.

Tl 3RS 9B GRT AP 3 Fbell & -
(A) o= o1 foB aRb

(B) oI B Fer

(C) IRS & ARG YA

(D) SRl gRT SiferemoT '

132.

T B AV I & o -
(A) 1986 ¥
(B) 1988 H
(C) 1990 H
(D) 1983 H

Weefieaar & dwar A i & -
(A) fgEa &

() I H

(C) & H

(D) T & B T

SET-C
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132.
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134,
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Largest Ecosystem of the world is -
(A) Forest
(B) Grass Land
(C) Lake
(D) Ocean

First National Park of India is =

(A) Kanha

(B) Periyar

(C) Corbett

(D) Rajaji

In villages, people use wood as fuel
because -

(A) itisconsidered to bean ideal fuel.
(B) of its easy availability and low
cost.

it is environment friendly.

it catches fire easily.

(©
(D)

Soil erosion can be prevented by -
(A) raising forests

(B) deforestation

(C) excessive use of feriilizer

(D) overgrazing by animals

Ganga Action Plan (G.A.P.) was
launched in -
(A) in1986
(B) in1988
(C) in1990
(D) in1983

Intensity of radioactivity is measured
in-
(A)
(B)
(C)
(D)

- Decibel
Curie
Hertz
None of these
P.T.O.

(¥ Scanned with OKEN Scanner


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

135, wwEREST g s &

136.

137.

138.

139.

140.

(A) wwBow §

(B) Tomw ¥

(©) ¥ () §

(O) wuH
Few A F A R

(A) &9 ¥ Frear 58 & 3mas
(B) ®wgfhe

(C) T& T

(D) & I &hft ey

P & ¥ 3 arg wqwe =& &
(A) X-foRor '

(B) co,, coim
(C) SPM o1
(D) so,*w

oY &7 g & o R aRs -
(A) RO
(B) SOTCTE! €@

(C) 3Tt T aigs
(D) €& JgED

R U6 aIeTd §ER, U SRR I
weforal serar &, dfes ane ¥ wefai
Stifad & € Ut &1 $HST BROT & -
(A) TERT AT

(B) U H gferd 3MeRilsH o aruRafy
(C) UaHl A

(D) 3RS T A BE &I

R F Ed F 7eX 91 & 91, T @ A
f=1 e @1 YA aRd g & SRl IAET

135.

136.

137.

138.

139,

140,
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Mycorrhiza is present in -
(A) Cycas

(B) Rose

(C) Pinus (Chir)

(D) Buransh

Effect of Tinnitus disease js -
(A) Persistent ringing sound jp
(B) Low eye sight -
(C) Dry Skin

(D) Slow Heart Beat

Which of the following is/are pop »
pollutant? . |
(A) X-Ray

(B) CO,, COgas
(C) SPM particle
(D) SO, gas

Factor responsible for Little Ice Agejs
(A) Plantations

(B) Volcanic Dust

(C) Excessive Transport Vehicles
(D) Sound Pollutants

Raheem prepare a pond, fill waterthj
disperse fishes in it, but fishes are g
alive in pond. Its reason is -

{

(A) Deep Pond [
(B) Absence of dissolved oxygen |
water

(C) Cemented Pond
(D) None of above

Suresh produced much production
wheat without use of fertilizers in sal
field, where peas were cultivaté
earlier, Its reason is -

(A) Photosynthesis

(B) Transpiration

(C) Rhizobium Bacteria
(D) Respiratory Quotient
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141. 7@ & Wy § Fm ol ) Rar SR
T A R Y ek v IR @ T
ifoTe -

1. I WIS T o & 8 AR 2
2. WA US FIE HHEH gl
3. W wEr vd I EepREl ga W

XXI-1

141, Consider the following statements about
the soil and select the correct answer
using the code given below - .

1.  Soil Is the basic medium for food
and timber.

2. Soilisan important resource.

3.  Allcommunities and their cultures

meRa Bt ) depend on s0il.
R.2 : Code :
(A) 1% 273 & (A) 1 and 2 are correct.
(B) 1743w El (B) 1 and 3 are correct.
(C) 2vd 3T el (C) 2 and 3 are correct.
(D) 1,203 3FA &I (D) 1,2 and 3 are correct.

142, 79 3§ 9§ 39-91 0 Al & R T F6
Y@ dd &7

Which one of the following is the
dominant element of the Earth's crust?

142.

(A) TegfHrTaE (A)  Aluminium
(B) @eT (8) Iron
(C) 3ifais= (C) Oxygen
(D) THfcT (D) Silicon

143. 9Rd ¥ = A ¥ 6w yoR @1 aFERe
Hed i ar e 87
(A) IUBICEUT TH HIGER T
(B) IO 3HE-HalaeR T
(C) IUmicada 7 uofuRi o
(D) IS IU@icadd a1

143. Which of the following types of Forests
covers the largest area in India?

(A) Tropical Wet Evergreen Forests
(B) Tropical Semi-Evergreen Forests
(C) Tropical Moist Deciduous forests

(D) Dry Tropical Forests

144, v A B <her % o E@H 2 H 144. Which is tt_le first stage |n'the process
; of a species becoming irreversibly
sfisar # Uge TRUT B &7 L
(A) uRkfefeera o (A) Ecological extinction
(B) WHfEd foeia= (B) Mass extinction
(©) wEa faaE (C) Local extinction
(D) fde faeho (D) Biological extinction
; a1 oA A ®/R 145. Which of the following statements is
145. frefer :"az :g 4 true with regard to water on the global
) el f scale?
(A) sicrafes 3ucere Sict yafe e 2l (A) Thereis not enough water available
®) & a1 T wdnT A8 B ol per capita.

(©) qﬁwmﬁtﬂqﬁ%mﬁ’_{"h

(B) We cannot reuse water.
(C) There is a lot of water and yet

5! T &l ) Er:iriolfaf g e
; T AR B amount of water in the
(o) fara & 71 @ A . world is constantly decreasing in
A @A &l quantity. ‘

SET-C
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146. frrfifas ¥ ¥ @ dos g

147,

148.

149.

150.

TR SRoT Jer s &
(A) s :
(B) e

(C) TwgeH
(D) HARH

Frefafaa & ¥ s aRRufE
IHeS wes &-

(A) udter

(B) Hax

(C) Tguw

(D) IR

AHE S§ UV-faolt I aafte mfda &
ST & 99 T 8B Fopar &7

(i) wicRem-dx & afy

(i) Pwsr B afy

(i) AT BT HFR

(iv) 3THIE™ & 36

(i) 3R (ii)

(i) 3R (iv)

(i) 3R (iii)

(iii) 3R (iv)

(A)
(B)
(©)
(D)

TIRTES UGHUT G B0 & FHifad &l &-
(A) @

(B) &I

() fo=it

(D) wfkTD

R & areEe @ Jftrean gwfda o
aret HGEYT T SR &-

(A) arg gl

(B) it HgHUl

(C) ¥ "

(D) ¥R WGl
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149,

150.

_
GET IT ON

Which one of the following fuels cae..
minimum environmental pollution?
(A) Diesel
(B) Coal |
(C) Hydrogen : '
(D) Kerosene

Which one of the following is an abj;.
component of the ecosystem -

(A) Plants

(B) Fungi

(C) Humus

(D) Bacteria

Excessive exposure of humans to
UV-rays results in —

(i) damage toimmune system

(i) damage to lungs

(iii) skin cancer

(iv)

peptic ulcers

(A)
(B)
©
(D)

(i) and (ii)
(i) and (iv)
(i) and (iii)
(iii) and (iv)

Fluoride pollution mainly affects -
(A) Teeth '

(B) Heart

(C) Kidney

(D) Brain

The type of pollution which is likely to
affect Taj Mahal in Agra to a greater
extent is -

(A) air pollution

(B) water pollution

(C) soll pollution

(D) noise pollution
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10.

11.

12,

13.

14.

mﬁw1ﬁsoﬁw&smmﬁmn&
Rreror s  gwfea €

TS |1 31 60 T > T HWIHT wer-fEedt
e 3R N Tt &1 3 J Bad e
HIST & T &) HINT 9o & W9 H &l B 2
el e U & AR TG 6T o
& I & B

¥ | 61 | 90 9@ & W W fgdo-
f&=ar sruar 3RS sRET WRpa s I
a8l 379 | $ad U UINT & §I &
w1 fgcdiar & ¥ 7 &6 o3 &1 3l amde
U3 & IR 9aHd g Il & 99 &
| &H 2 o g v & w0 F gafE
a1, fadia wmr & wu § @ o s

TS HET 91 ¥ 120 A o T OIG J Fraed
&l

v W1 121 ¥ 150 9 & YT Uaia}or
Fegga & e gl

% B ge-gRae & e ®IF W fear
ST T 2

Y9 U7 8 B § 9HT A% 7 R e I
Wo F 31T & d 30 ¥ W A

3N0PH03IR0 IR T3P 31 48 el 3R T &
fiost ypR & faga &

g&T FHE 8 U= 3N0TH03R0 IR UAD
3 @& Frers @ 3ragyg 4l &) snafiEl &
IR IS B DEA Hid U4 FE-GRAD 30
| & A B Al &l

>

10.

11.

12,

GET IT ON

Google Play
XXI-1

Question Nos. 1 to 30 are related to Child
Development and Pedagogy.

Question Nos. 31 to 60 are related to First
language - Hindi OR English. Candidate has
to select the questions of only one language as

the First language. Answer the questions of the
language which the candidate has selected as

First language in his/her application form.

Question Nos. 61 to 90 are related to Second
language - Hindi OR English OR Sanskrit OR
Urdu. Answer the questions of only one
language which the candidate has selected as
Second language in his/her application form.
Be careful that the language selected as First

language cannot be taken as Second language.
Question Nos. 91 to 120 are related to
Mathematics.

Question Nos. 121 to 150 are related to
Environmental Studies. :

Rough Work can be done in specified space of
the Question Booklet.

Do not waste time in solving the questions. If

you cannot answer a question, proceed to the

. next one,

13.

14.

Do not fold or damage the OMR answer sheet
any way.

After examination submit your OMR answer
sheet to the invigilator. Candidates are allowed

to take away the carbon copy of OMR answer
sheet and Question Booklet.
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